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\FUNC.d.l kdentify solutions for linear systems of equations and linear systems of inequalities,
given a graph.

1) Identify the solution. Circle and label it. 2) Identify the solution. Circle and label it.
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3) Determine if the following points are solitions and explain your decision.

@(4,0) solution: YES @because NoT (N sunnEs ~ess

@ (-4,0) solution: @ NObecause. | T 1S on A Soldp LiNE

@(O,-4) solution: YES @because IT IS ¢ A ODofEo0 (/48

@ (-4,-4) solution:@ NO because IN THE Sotd TN @& ¢ dnd
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inca> "
raph and solve a system of linear equations.

(a) Clearly graph the equations.
(b) Clearly mark the solution. And give the ordered pair for the solutio

(c) Remember to check the solution. p LGE BRA ALY
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Sketch the graph of each linear inequality.
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. Circle the solution.
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|FUNC.d.3 ! Mce—\$
raph asys of linear inequalities, and identify the solution region.

(a) Clearly graphs the inequalities. s
(b) Clearly mark the solution region and mark it with an arrow. 9"‘9
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(Bomus TYPE 2v5)

Sketch the solution to each system of inequalities.
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Solve the system by graphing. Check the solution algebraically.
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